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Usually, either Shell or Disk/Washer Method will be preferred.

When f and/or g are 1-to-1, then switching back and forth is fairly
easy.

But if a function has local extremes on the region in question, things get
dicey very quickly, if you pick a "wrong" method.

This can come up when you have a function of x that is rotated around
the x-axis, when you're asked to use the shel/ method. Very difficult.
The cylindrical shells might cross over some "dead space" in a trough,
for instance.

Very tough situation, here. See how the horizontal cylinder leaks outside of the

solid? Very difficult to formulate. You'd basically have to find the low point of
the function f'(x), and then break the volume up intg'two §eparate chunks.
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